Are-Duveds BK
Partavling 2020-10-22

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac  Par Poang % Namn MID Klubb
1 1 123 64.06  Ake Granlév - Ake Andersson 4093 - Are-Duveds BK
2 2 119 61.98 Svante Mansson - Bert Pettersson 8385 3410 Are-Duveds BK
3 4 116 60.42  Jan Sundberg - Claes Scott 10637 92794 Billeruds BK
4 5 102 53.13  +00 - Lars Henriksson +00 200023  Are-Duveds BK
5 8 98 51.04 Leif Lindholm - Bo-Christer Persson 65323 65796 Are-Duveds BK
6 6 95 49.48  Boine Johansson - S6lve Madsen 62843 55006 Are-Duveds BK
7 9 90 46.88  Ulf Sundberg - Lars Wohlfart 28528 91890 Folkare BK
8 7 83 43.23 Markus Forsberg - Erik Danielsson 37068 64835 Are-Duveds BK
9 10 69 35.94 Inger Svardby Hyttstrand - Barbro Narup 36294 55005 Are-Duveds BK
10 3 65 33.85  Patrik Mattsson - Hdkan Hakansson 89472 48420 Are-Duveds BK
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 4 3NS= v3 400 6.0 20| 9 1 3vN+1 +8 170 70 10 3 6 3NV-1 vJ 100 8.0
3 6 3NN= a7 400 6.0 20|10 5 2v S+2 *7 170 70 10| 9 1 3&V= vJ -110 6.0
7 8 3NN= v3 400 6.0 20| 7 8 2v S+1 *9 140 40 40| 7 8 4aV= vJ -130 4.0
9 1 2NN= v3 120 20 6.0 2 4 INV-2 v3 100 20 6.0|/10 5 2NV+3 8 -210 2.0
10 5 44 S-1 v2 -50 0.0 80| 3 6 24V-1 A 50 00 80| 2 4 3NV= a2 -600 0.0
4 Vast Alla 5 Nord NS 6 Ost OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 7 38 N+2 vJ 150 80 00| 4 7 5&N= vA 600 80 00| 4 7 BNN+1 v4 1020 8.0
8 1 4eV-1 *A 100 6.0 20| 9 2 3¢V4 *A 200 50 3.0 3 5 3NN+3 *6 490 4.0
3 5 340= &5 -140 3.0 50(10 6 3¢ V-4 A 200 50 3.0 8 1 3NS+3 LY 490 4.0
9 2 240+1 ¢A -140 3.0 50| 8 1 4 N+1 vA 150 20 6.0 9 2 3NN+3 3 490 4.0
10 6 54DS-2 &K -500 0.0 80| 3 5 3&#N= vK 110 0.0 80|10 6 2v S+3 *4 200 0.0
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 6 3NV+1 T 630 80 00| 9 3 5¢0-2 v3 100 80 00| 4 6 4vS= a2 420 8.0
1 2 44 0+1 *T 650 5.0 3.0 1 2 3NO= v8 -400 40 40| 9 3 3vS= 46 140 6.0
5 8 44 O+1 ¢A -650 50 3.0 4 6 3NV= v5 -400 40 40| 1 2 3vyN-1 *A -50 2.0
9 3 44 O+2 &8 -680 10 7.0[10 7 3NV= 46 400 40 40| 5 8 3NN-1 v2 -50 2.0
10 7 4v V+2 *T -680 1.0 7.0 5 8 3NV+2 v8 -460 0.0 8.0|10 7 3NN-1 v2 -50 2.0
10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
2 3 3NS= a5 600 80 00| 2 3 2¢ N+3 v5 150 80 00| 6 1 3v(O+3 a4 -230 8.0
5 7 INS+1 a5 120 6.0 20| 5 7 3¢ N+1 v7 130 50 30| 2 3 4v0O+1 a2 -450 5.0
10 8 24 S+1 vT 110 40 40(10 8 3¢ S+1 vA 130 50 30| 9 4 4vV+l *J -450 5.0
6 1 3NS-1 a7 -100 20 60| 6 1 2¢ N= v7 90 10 70| 5 7 4v O+2 «Q -480 1.0
9 4 3NS-3 a7 -300 0.0 80| 9 4 2¢S= vA 90 1.0 7.0|/10 8 4v O+2 a2 -480 1.0
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 8 5¢V-1 *A 100 80 00| 1 10 2¢ 0-1 *A 50 70 1.0 1 10 2¢v0-1 +3 50 7.0
9 5 2¢V+l v6 -110 6.0 20| 6 8 3¢ V-1 *6 50 70 10| 3 4 3v0-1 +3 50 7.0
1 10 24 O+2 vA -170 40 40| 9 5 24 0= &3 90 4.0 40| 9 5 345S-1 vA -100 4.0
3 4 3NV= *7 -600 1.0 70| 7 2 3¢ 0= *3 -110 20 60| 6 8 24 N-2 *A -200 2.0
7 2 3NO= &3 -600 10 7.0 3 4 2NO+1 &3 -150 00 80| 7 2 3¢ N-4 v2 -400 0.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 10 INS+2 43 150 70 10| 2 10 3NS+2 v3 460 80 0.0 2 10 34D0O-2 &A 300 7.0
8 3 1¢ N+4 A 150 70 10| 9 6 4y N+1 *4 450 6.0 20| 4 5 44DO-2 &A 300 7.0
7 1 2¢ N+2 *A 130 40 40 4 5 4vy N= *J 420 20 60| 9 6 3vN-1 +6 -100 4.0
9 6 34S-= +8 110 20 6.0 7 1 4vN= &J 420 20 60| 8 3 240-= A -110 2.0
4 5 34S-1 +8 50 0.0 80| 8 3 4v N= *4 420 20 60| 7 1 340= *A -140 0.0
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 4 INO-2 v5 200 80 00| 1 4 4v0-1 aA 100 70 1.0 1 4 3NN+2 46 660 5.0
5 6 3vyN= 48 140 50 30| 8 2 4v V-1 aA 100 70 10| 3 10 3NS+2 46 660 5.0
9 7 3vS= &T 140 50 3.0| 3 10 3v V= s A -140 20 60 5 6 3NN+2 a7 660 5.0
3 10 24 V= &3 -110 20 60| 5 6 2vV+1 a K -140 2.0 6.0 8 2 3NN+2 46 660 5.0
8 2 INO+1 »2 -120 0.0 80| 9 7 3vV= aA -140 2.0 6.0 9 7 3NN+1 v6 630 0.0
22 Ost OV 23 Syd Alla 24 Vst Ingen
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res
2 5 4v V-2 +5 200 80 00 1 3 3NO-2 vK 200 80 00| 1 3 24N= &A 110 8.0
1 3 3¢ N+2 va 150 6.0 20| 4 10 44 0-1 v5 100 50 30| 6 7 4#V-1 v5 50 6.0
6 7 2¢ N+2 va 130 30 50 9 8 3NV-1 vK 100 50 3.0| 4 10 2v O +1 aA -140 4.0
9 8 3¢ N+1 *A 130 30 50| 2 5 3NV+1 vK 630 1.0 70| 2 5 3vO0O+1 aA -170 1.0
4 10 3NS-2 *6 -100 0.0 80| 6 7 3NV+1 v] 630 1.0 7.0 9 8 2vO+2 &T -170 1.0
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